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ALL QU\EiTIONS ARE 12 POINTS. Read instructions! Recommend checkinﬁ for partial
credit,
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Solve each system by substitution. Then check the solution algebraically
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Solve each system by elimination. Then check the solution algebraically
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Solve the system using either the substitution or ehmmatb‘n method.
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7) Micaela and Arjun each improved their yards by planting rose bushes and geraniums. They
bought their supplies from the same store. Micaela spent $31 on 3 rose bushes and 2 geraniums,
Arjun spent $100 on 10 rose bushes and 5 geraniums. What is the cost of one rose buish ind thie
st of one geranium?
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Ch 7 Quiz - Solving Systems with Algebra (2021)  Date Period

Bonus Questions
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9) BONUS (10pts):

Beth and Paul are selling cookie dough for a school fundraiser. Customers can buy packages of
sugar cookie dough and packages of oatmeal cookie dough.

Beth sold 12 packages of sugar cookie dough and 9 packages of oatmeal cookie
dough for a total of $271.20. Paul sold 20 packages of sugar cookie dough and 6 packages of
oatmeal cookie dough for a total of $297.20.

Find the cost each of one package of sﬁgar cookie dough and one package of oatmeal cookie

dough.
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